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(#&1) OECD hNEREEE S 1987F BEFHBEXHERED RFHEETENE S8

4 MBEESE | B IEERE | BT HLER | #EEhs |RTFOBEEDR | R UH5FE
{(FFkWNet) {F7kWNet) (%) (fEKWhNet) | (EkWhNet) (%)
3 5 3,460 - - 1,339 - -
S ~E g o} 1,640 - - 505 - -
o7l of 1,410 550 39.0 599 396 66. 1
AR S 10, 060 1,180 1.7 4,819 729 15. 1
g =& =2 350 - - 296 - -
W g = 1,090 230 21.1 507 185 36.5
z &g £ 9,820 4,970 50. 6 3,599 2,513 69. 8
Al = 9,580 1,890 19.7 3,917 1,226 31.3
a8 & 810 - - 279 - -
ofagRE 90 - - 42 - -
obol &l = 390 - - 123 - -
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o] & g o} 5,650 130 2.3 1,908 2 0.1
o 2 15, 340 2,630 17.1 5,968 1,748 29.3
EAQR=2=a 120 - - 10 - -
(S1= 1,630 50 3.1 669 35 5.2
AW = 740 - - 266 - -
X 2 9 o 2,560 - - 1,042 - -
zzE7 670 - - 193 - -
2 # q 4,140 660 15.9 1,349 392 29.1
T 3,320 960 28.9 1,420 645 45.4
2 3 =~ 1,510 290 19.2 567 217 38.3
2 7] 1,160 - - 418 - —
4 = 6,750 1,030 15.3 2,825 485 17.2
o] = 67, 400 9,440 14.0 25,722 4,553 17.7
OECD#&ET | 150,190 24,010 16.0 53, 382 13,126 22.5
#2)0ECD mEREEE Sl 2000Fmm BFHEEHFFEL BFHZEEHE BAl
5 % MPEREE | HTHHEAE |BEFH5AR | MBEENE |ETIREEIE | KT N5FE%

(FkWNet)| (kW Net) (%) (fEkWhNet) ({&kWhNet) (%)
3 e 3,740 - - 1,902 - -
L AEgo} 1,890 - - 562 - -
A 1,470 690 46.9 765 450 58.8
74 o oo 11,950 1,610 13.5 6,102 1,210 19.8
g = =2 1,130 - - 393 - -
i g = 1,440 230 16.0 678 165 24.3
A S 10, 810 6,400 59.2 4,796 3,820 79.6
A = 10, 400 2,430 23.4 4,580 1,490 32.5
R 1,410 - - 476 - -
olo] &l = 100 - - 53 - -
ol o &l = 420 - - 171 - -
o] &k ] o} 7,600 90 1.2 3,140 490 1.6
o 2 19,830 4,980 25. 1 8,126 3,281 40. 4
FAR =23 120 - - 10 - -
vl | gk = 1,700 50 2.9 858 320 3.7
AWM= 850 - - 372 - -
X 29 o 3,070 - - 1,300 - -
Xz Rz 1,170 - - 332 - -
2 9 ql 4,600 940 20. 4 1,816 566 3.2
2 4 d9 3,650 700 19.2 1,400 450 32.1
S 1,700 390 22.9 630 280 44.4
E] 7 4,060 - - 1,827 - -
% = 7,500 1,180 15.7 3,453 603 17.5
] £l 74,300 10, 300 13.9 34, 660 5,900 17.0
OECD&:H | 174,910 29, 990 17.1 78, 402 18, 296 23.3
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